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ENGLISH VERSION

1 Explain the reasons for population explosion in India and also 20

explain its economic impacts.

OR
1 Explain the approach of Amartya Sen regarding economic 20
development.
2  Explain the theory of Big Push. 20
OR
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2  Explain in detail : Balanced Vs. Unbalanced economic 20

development strategy.

3 Give answers in one or two sentences : (Any ten) 20
(1) Give meaning of economic development.
(2) Whatis absolute poverty ?
(3) Whatis relative poverty ?
(4) Give meaning of National Income.
(5) Give meaning of per Capita Income.
(6) Whatis Human Development Index ?
(7)  Whatis physical quality of Life Index ?
(8) What is vicious circle of poverty ?
(9) Whatisindivisibility of Demand ?
(10) What is indivisibility of supply of Savings ?
(11) Whatis disguissed unemployment ?
(12) What are stimulant factors ?
(13) Which theory was presented by Rodan ?

(14) Which strategy of development was presented by Singer ?

(15) Whatis social dualism ?
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4 Select the proper option : 10

(1) Economic developmentis a an
(A) event (B) process

(C) policy (D) result

(2) The share of agricultural sector in India's national income is

A 20to25% B) 15t020%

(C) lessthan 15% (D) lessthan 10%

3) Concept of economic development is
(A) Statecentred
(B) Human centred
(C) Firm centred

(D) None of these

4 isinvolvedin H.D.I.
(A) Environment (B) Polity
(C) National Income (D) Per capita Income
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factors are responsible for reduction in per capita

income.
(A) Shocks (B) Stimulants
(C) Useful (D) Useless
advocated unbalanced development.
(A) Keynes
(B) Hirchman
(C) Pigou
(D) Ricardo
gave concept of social dualism.
(A) Gandhij (B) Sen
(C) Ricardo (D) Boech
According to Lewis, by unlimited , economic

development is possible.

A)

©

Land (B) Capital

Labour (D) Entrepreneur
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9 is an engine of economic development.

(A) Internal Trade (B) International Trade
(C) Labour (D) Land

(10) In matter, each nation should become self reliant.
(A) Machine (B) Raw material
(C) Consumer item (D) Food grain
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